

# District School Board of Pasco County

## Bid Recommendation

<b>Bid Title</b>	Smallwares		<b>Number of Vendors Notified</b>	141
<b>Bid Number</b>	07-017-DR		<b>Number of Bids Distributed</b>	16
<b>Date Solicited</b>	March 16, 2006		<b>Number of Vendors Responding</b>	3
<b>Date Opened</b>	April 20, 2006		<b>Number of Vendors Not Bidding</b>	145
<b>Date Board Presentation</b>	June 6, 2006		<b>Number of Vendors Bidding</b>	3
<b>Total Savings</b>	<b>\$19,856.54</b>		<b>Grand Total of Bid</b>	<b>\$98,758.34 (Approximate)</b>

**Recommendation:**

Recommend acceptance of bids as noted on attached bid tabulation as lowest and best bids meeting written specifications.

**Term of Contract:**

This is a contract for the food and Nutrition Services Department. This is a three-year bid, renewable annually by mutual consent of both parties. This is the first year of a three-year contract effective June 22, 2006 through June 21, 2007. This bid will be used by all new and existing schools.

**Notations and Exceptions:**

Recommend rejection of all lower bids for failure to meet following written specification: if alternate is bid, written specifications must be submitted with bid document.

Group I: Award to Sarasota Restaurant Equipment and supplies, lowest and best bidder meeting specifications. Recommend to disqualify Calico Industries, Inc. did not meet specs on FE016 (wrong thermocouple). Also, recommend to disqualify Sam Tell and Sons, Inc. as they failed to provide cut sheets as specified for evaluation purposes.

Group V: Award to Calico Industries, Inc., lowest and best bidder meeting specification. Recommend to disqualify Sarasota Restaurant Equipment and Supplies, Group V is "All-or-None" as required in the bid.

Group VI: Award to Calico Industries, Inc., lowest and best bidder meeting specification. Recommend to disqualify Sarasota Restaurant Equipment and Supplies as they failed to provide cut sheets as specified for evaluation purposes.

Group VII: Award to Sarasota Restaurant Equipment and Supplies lowest and best bidder meeting specifications. Recommend to disqualify Calico Industries, Inc. for bidding not equal alternate items. Alternate item bid is not NSF certified. Recommend to disqualify Sam Tell and Son, Inc. as they failed to provide cut sheets as specified for evaluation purposes.













DATE OF OPENING: APRIL 20, 2006 @ 2:30 PM			Calico Industries, Inc.		Sam Tell & Son, Inc.		Sarasota Restaurant Equipment * Supplies			
BID TITLE: Smallwares - Food & Nutrition Services			9045 Juction Dr; P.O. Box 2005		5851 Maspety Ave		4487 Ashton Rd, Unit D			
BID # 07-017-DR			Annapolis Junction, MD 20701		Maspety, NY 11378		Sarasota, FL 34233			
ITEM#	QTY.	DESCRIPTION	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
FE075	32	HIGH HEAT SCRAPERS, 10"	5.87	187.84	5.15	164.80	5.00	160.00		
		(ALTERNATE)								
FE076	1	HIGH HEAT SCRAPERS, 13 1/2"	7.62	7.62	6.80	6.80	6.60	6.60		
		(ALTERNATE)								
FE077	96	HIGH HEAT SCRAPERS, 16 1/2"	9.80	940.80	8.10	777.60	8.48	814.08		
		(ALTERNATE)								
FE078	1	SOFT SPOON SHAPED SPATULAS, 9 1/2"	1.17	1.17	1.12	1.12	1.09	1.09		
		(ALTERNATE)								
FE079	1	SOFT SPOON SHAPED SPATULAS, 16 1/2"	2.08	2.08			1.94	1.94		
		(ALTERNATE)			1.12	1.12				
					Vollrath #52109					
FE080	1	INGREDIENT BINS	147.15	147.15	145.80	145.80	141.41	141.41		
		(ALTERNATE)								
<b>TOTAL "ALL OR NONE" GROUP I BID PRICE:</b>				<b>13,306.87</b>		<b>Disqualified</b>		<b>13,574.96</b>		
		<b>Group II</b>								
FE100	24	LADLE, 1 oz.	6.92	166.08	6.86	164.64	6.65	159.60		
		(ALTERNATE)								
FE102	16	PUNCH LADLE								
		(ALTERNATE)	8.85	141.60	1.46	23.36	8.66	138.56		
			Carlisle #IG709C		Stanton #P527		Carlisle #IG709			











DATE OF OPENING: APRIL 20, 2006 @ 2:30 PM			Calico Industries, Inc.		Sam Tell & Son, Inc.		Sarasota Restaurant Equipment * Supplies			
BID TITLE: Smallwares - Food & Nutrition Services			9045 Juction Dr; P.O. Box 2005		5851 Maspety Ave		4487 Ashton Rd, Unit D			
BID # 07-017-DR			Annapolis Junction, MD 20701		Maspety, NY 11378		Sarasota, FL 34233			
ITEM#	QTY.	DESCRIPTION	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
FE183	1	MIXING WHIP, Stainless steel, heavy gauge, 36"					35.00	35.00		
		(ALTERNATE)	8.83	8.83	5.88	5.88				
			Adcraft #FWE36		Adcraft#FWE-36					
FE190	16	FUNNEL, Stainless steel, 32 oz.	25.41	406.56	25.17	402.72	24.42	390.72		
		(ALTERNATE)	19.05	304.80						
			Polarware #84770							
FE195	1	SKIMMER, Stainless steel, heavy duty, 12 5/8" , one piece	10.30	10.30	10.21	10.21	9.90	9.90		
		(ALTERNATE)								
<b>TOTAL "ALL OR NONE" GROUP II BID PRICE:</b>				<b>10,986.66</b>		<b>10,837.84</b>		<b>10,645.79</b>		
<b>TOTAL "ALL OR NONOE" GROUP II BID ALTERNATE PRICE:</b>				<b>8,670.35</b>						
<b>Group III</b>										
FE200	1	STEAMTABLE PAN, 1/3 size, 6 7/8" x 12 3/4" x 2 1/2"	8.34	8.34	8.26	8.26	8.01	8.01		
		(ALTERNATE)	7.37	7.37						
			POLARWARE #E12062							
FE201	48	STEAMTABLE PAN, 1/3 size, 6 7/8" x 12 3/4" x 4"	12.07	579.36	11.96	574.08	11.60	556.80		
		(ALTERNATE)	10.41	499.68						
			Polarware #E12064							
FE202	48	COVER, solid, 1/3 pan	7.60	364.80	7.54	361.92	7.31	350.88		
		(ALTERNATE)	6.25	300.00						
			Polarware #3022							











DATE OF OPENING: APRIL 20, 2006 @ 2:30 PM			Calico Industries, Inc.		Sam Tell & Son, Inc.		Sarasota Restaurant Equipment * Supplies			
BID TITLE: Smallwares - Food & Nutrition Services			9045 Juction Dr; P.O. Box 2005		5851 Maspety Ave		4487 Ashton Rd, Unit D			
BID # 07-017-DR			Annapolis Junction, MD 20701		Maspety, NY 11378		Sarasota, FL 34233			
ITEM#	QTY.	DESCRIPTION	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
FE350	96	KNIVES, PARING 3-1/2"	3.37	323.52			77.78	7,466.88		
		(ALTERNATE)			1.45	139.20				
					Dext #P40843					
FE351	48	KNIFE, CHEF'S, 8"	15.64	750.72	<b>Disqualified</b>	<b>Disqualified</b>	14.50	696.00		
		(ALTERNATE)								
FE352	1	KNIFE, CHEF'S, 10"	17.77	17.77			16.48	16.48		
		(ALTERNATE)			7.88	7.88				
					Update #KP-09					
FE353	1	KNIFE, BONING, 6"	9.30	9.30			9.12	9.12		
		(ALTERNATE)			6.90	6.90				
					Dexter #P94825					
FE354	1	BAKER'S SPATULA, 10" x 1 5/8"	9.55	9.55	11.27	11.27	9.01	9.01		
		(ALTERNATE)								
FE355	16	BAKER'S SPATULA, 6" x 1 1/2"	5.92	94.72	7.06	112.96	5.64	90.24		
		(ALTERNATE)								
FE356	72	SANDWICH SPREADER, 3 1/2"	5.30	381.60			4.95	356.40		
		(ALTERNATE)			1.08	77.76				
					Tablecraft #4104W					
FE357	1	TURNER, 8" X 3"	13.03	13.03			12.18	12.18		
		(ALTERNATE)			9.60	9.60				
					Polarware #T6016					

DATE OF OPENING: APRIL 20, 2006 @ 2:30 PM			Calico Industries, Inc.		Sam Tell & Son, Inc.		Sarasota Restaurant Equipment * Supplies			
BID TITLE: Smallwares - Food & Nutrition Services			9045 Juction Dr; P.O. Box 2005		5851 Maspety Ave		4487 Ashton Rd, Unit D			
BID # 07-017-DR			Annapolis Junction, MD 20701		Maspety, NY 11378		Sarasota, FL 34233			
ITEM#	QTY.	DESCRIPTION	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
FE358	24	TURNER, 6" x 3"	12.02	288.48			11.15	267.60		
		(ALTERNATE)			5.10	122.40				
					Polarware #T6014					
FE359	16	PIE KNIFE, 4 1/2" x 2 1/4"	7.76	124.16			7.26	116.16		
		(ALTERNATE)			5.29	84.64				
					Dexter #P94852					
FE360	48	KNIVES, UTILITY SLICER, 6"	7.41	355.68			6.81	326.88		
		(ALTERNATE)			6.79	325.92				
					Dexter #P94847					
FE361	48	KNIVES, VEGETABLE PRODUCE, 6" x 1"	8.29	397.92			7.75	372.00		
		(ALTERNATE)			6.88	330.24				
					Dexter #166					
FE362	1	DOUGH CUTTER AND SCRAPER	5.54	5.54	5.50	5.50	5.19	5.19		
		(ALTERNATE)								
FE363	1	KNIVES, SLICER, 10"	13.02	13.02			12.07	12.07		
		(ALTERNATE)			7.51	7.51				
					Update #KP-06					
FE364	40	KNIVES, OFFSET SANDWICH, 9"	10.66	426.40	<b>Disqualified</b>	<b>Disqualified</b>	9.88	395.20		
		(ALTERNATE)								
FE365	16	PAN & GRIDDLE SCRAPER, 4"	9.31	148.96	7.35	117.60	8.63	138.08		
		(ALTERNATE)			Dexter #P94850					

DATE OF OPENING: APRIL 20, 2006 @ 2:30 PM			Calico Industries, Inc.		Sam Tell & Son, Inc.		Sarasota Restaurant Equipment * Supplies			
BID TITLE: Smallwares - Food & Nutrition Services			9045 Juction Dr; P.O. Box 2005		5851 Maspety Ave		4487 Ashton Rd, Unit D			
BID # 07-017-DR			Annapolis Junction, MD 20701		Maspety, NY 11378		Sarasota, FL 34233			
ITEM#	QTY.	DESCRIPTION	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
FE366	24	MINI TURNER, 2 1/2"	5.62	134.88	6.58	157.92	5.26	126.24		
		(ALTERNATE)								
<b>TOTAL "ALL OR NONE" GROUP IV BID PRICE:</b>				<b>3,880.41</b>		<b>Disqualified</b>		<b>12,037.93</b>		
<b>GROUP V</b>										
FE400	16	BRUSH, KETTLE DRAIN VALVE, 28"	3.44	55.04	3.69	59.04	3.48	55.68		
FE401	16	BRUSH, VEGETABLE, 9 1/2"	4.84	77.44	5.37	85.92	5.05	80.80		
FE403	16	BRUSH, COFFEE URN, 25"	1.78	28.48	1.85	29.60	1.74	27.84		
FE404	12	BRUSH, PASTRY, 2"	4.13	49.56	4.47	53.64	4.83	57.96		
FE405	1	BRUSH, PASTRY, 3"	6.82	6.82	7.10	7.10	6.67	6.67		
FE406	16	BRUSH, LONG-HANDLED CLEAN UP, 20"	6.71	107.36	7.05	112.80	6.64	106.24		
FE407	16	BRUSH, SHORT-HANDLED CLEAN UP	6.85	109.60	3.89	62.24	3.69	59.04		
FE408	1	MIXING PADDLE SCRAPER					14.82	14.82		
		(ALTERNATE)	9.98	9.98	8.92	8.92				
			Calico #343148		Winco #MPD-36					
FE409	16	BRUSH, PAN LIP	3.38	54.08	3.55	56.80	3.35	53.60		
FE412	1	BRUSH, POTATO	2.63	2.63	2.64	2.64	2.68	2.68		
FE413	96	BRUSH, TOOTHBRUSH, utility, 7"	1.26	120.96	1.33	127.68	1.25	120.00		

DATE OF OPENING: APRIL 20, 2006 @ 2:30 PM			Calico Industries, Inc.		Sam Tell & Son, Inc.		Sarasota Restaurant Equipment * Supplies			
BID TITLE: Smallwares - Food & Nutrition Services			9045 Juction Dr; P.O. Box 2005		5851 Maspety Ave		4487 Ashton Rd, Unit D			
BID # 07-017-DR			Annapolis Junction, MD 20701		Maspety, NY 11378		Sarasota, FL 34233			
ITEM#	QTY.	DESCRIPTION	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
FE417	1	DOUBLE DUTY PADDLE SCRAPER, 4 1/2" x 7 1/2"	17.18	17.18	17.88	17.88	16.83	16.83		
FE418	8	BRUSH, FLOOR DRAIN HANDLE, 36" Plastic	8.42	67.36	8.85	70.80	8.32	66.56		
FE419	8	BRUSH, FLOOR DRAIN, 3" plastic block brush	7.69	61.52	7.41	59.28	7.52	60.16		
FE420	8	BRUSH, GARBAGE CAN, 20" handle	3.48	27.84	NB	NB	8.00	64.00		
FE421	8	BRUSH, OVEN WITH SCRAPER	17.81	142.48	18.71	149.68	17.60	140.80		
FE422	8	BRUSH, GROUT (ALTERNATE)	7.27	58.16	1.68	13.44	NB	NB		
			Carlisle #365320		Rubbermaid #9B56					
FE423	16	BROOM, SCRUB	6.08	97.28	6.39	102.24	6.01	96.16		
FE424	16	BROOM HANDLE 60"	3.52	56.32	3.66	58.56	3.45	55.20		
<b>TOTAL "ALL OR NONE" GROUP V BID PRICE:</b>				<b>1,150.09</b>		<b>1,078.26</b>		<b>1,085.04</b>		
<b>GROUP VI</b>										
FE457	1	FREEZER GLOVES (ALTERNATE)	4.34	4.34	NB	NB	24.68	24.68		
			Calico 29G44315M				Best Value #20PD			
FE458	32	WHIZARD HANDGUARD II GLOVE (ALTERNATE)	12.15	388.80	NB	NB	9.30	297.60		
			Calico #29G13302M				Best Value #PBS302			
<b>TOTAL "ALL OR NONE" GROUP VI BID PRICE:</b>				<b>393.14</b>	<b>NB</b>	<b>NB</b>		<b>322.28</b>		



DATE OF OPENING: APRIL 20, 2006 @ 2:30 PM			Calico Industries, Inc.		Sam Tell & Son, Inc.		Sarasota Restaurant Equipment * Supplies			
BID TITLE: Smallwares - Food & Nutrition Services			9045 Juction Dr; P.O. Box 2005		5851 Maspety Ave		4487 Ashton Rd, Unit D			
BID # 07-017-DR			Annapolis Junction, MD 20701		Maspety, NY 11378		Sarasota, FL 34233			
ITEM#	QTY.	DESCRIPTION	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
FE520	16	SPOON MEASURE SET, 4 oz.	2.80	44.80	2.78	44.48	2.69	43.04		
		(ALTERNATE)								
FE525	16	KNIFE RACK			44.79	716.64	42.95	687.20		
		(ALTERNATE)	11.25	180.00						
			Adcraft #KR12							
FE540	8	ALUMINUM PIE MARKER, 8 cut	6.82	54.56	6.79	54.32	6.56	52.48		
		(ALTERNATE)								
<b>TOTAL "ALL OR NONE" GROUP VIII BID PRICE:</b>				<b>1,614.80</b>		<b>2,357.17</b>		<b>2,628.00</b>		
<b>GROUP IX</b>										
FE600	8	TWO-STEP FOLDING STEP STOOL	16.38	131.04	19.68	157.44	17.18	137.44		
FE605	24	RECTANGULAR ICE TEA DISPENSER, 3 gallon capacity	40.53	972.72	<b>NB</b>	<b>NB</b>	38.95	934.80		
		(ALTERNATE)	(Black)				Tablecraft #10850			
FE610	24	RECTANGULAR BEVERAGE DISPENSER, 3 gallon capacity	40.53	972.72			38.95	934.80		
		(ALTERNATE)			29.48	707.52	Tablecraft #10850			
					Tablecraft #353DP					
FE615	48	COFFEE PERCOLATOR, 55 cup capacity	85.08	4,083.84			105.01	5,040.48		
		(ALTERNATE)			81.47	3,910.56				
					Regal Ware #58055R					
FE630	1	SILVERWARE CYLINDERS	2.09	2.09	2.47	2.47	2.28	2.28		
FE635	24	AIR POTS, 3.5 liter, stainless steel liner					<b>NB</b>	<b>NB</b>		
		(ALTERNATE)	24.84	596.16	51.00	1,224.00				
			Adcraft #APL30, 3 Liter		Bunn #367250000					

DATE OF OPENING: APRIL 20, 2006 @ 2:30 PM			Calico Industries, Inc.		Sam Tell & Son, Inc.		Sarasota Restaurant Equipment * Supplies			
BID TITLE: Smallwares - Food & Nutrition Services			9045 Juction Dr; P.O. Box 2005		5851 Maspety Ave		4487 Ashton Rd, Unit D			
BID # 07-017-DR			Annapolis Junction, MD 20701		Maspety, NY 11378		Sarasota, FL 34233			
ITEM#	QTY.	DESCRIPTION	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
FE640	16	THERMAL SERVER, 20 oz					NB	NB		
		(ALTERNATE)	6.83	109.28	16.33	261.28				
			Adcraft #SP20BK		Winco #VSS-407					
FE641	16	THERMAL SERVER, 40 oz.					NB	NB		
		(ALTERNATE)	8.93	142.88	22.52	360.32				
			Adcraft #SP40BK		Cambro #48OTS					
FE645	4	KITCHEN AID MIXER, 5 quart					NB	NB		
		(ALTERNATE)	344.00	1,376.00	249.55	998.20				
			Kitchen Aid #KM25GIXWH		RobotCP #MMP220VV					
FE455	48	OVEN MITTS, 15"	13.95	669.60						
		(ALTERNATE)			5.89	282.72	9.89	474.72		
					Arden #2PX15BETFBX		Best Value #OMNIS			
FE456	1	OVEN MITTS, 18"	15.85	15.85						
		(ALTERNATE)			13.14	13.14	13.41	13.41		
					Arden #2PX27BETF		Best Value OMN18			
FE650	8	FIRST AID KIT					19.25	154.00		
		(ALTERNATE)	24.93	199.44	5.52	44.16				
			Top Safety Prod. #82K25		Servidea #113051					
FE664	64	CUTTING BOARD, white polyethylene, thermoplastic			NB	NB	9.06	579.84		
		(ALTERNATE)	5.71	365.44						
			Calico #344321							

DATE OF OPENING: APRIL 20, 2006 @ 2:30 PM			Calico Industries, Inc.		Sam Tell & Son, Inc.		Sarasota Restaurant Equipment * Supplies			
BID TITLE: Smallwares - Food & Nutrition Services			9045 Juction Dr; P.O. Box 2005		5851 Maspety Ave		4487 Ashton Rd, Unit D			
BID # 07-017-DR			Annapolis Junction, MD 20701		Maspety, NY 11378		Sarasota, FL 34233			
ITEM#	QTY.	DESCRIPTION	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
FE665	16	STORAGE STAND FOR CUTTING BOARD					27.02	432.32		
		(ALTERNATE)	6.93	110.88	10.21	163.36				
			Winco #CB6L		Sanjamar #CB152038WH					
FE670	32	BOARDMATE, 16" x 22" cutting board	15.69	502.08			13.91	445.12		
		(ALTERNATE)			15.67	501.44				
					Sanjamar #CBM1622					
FE675	8	SOUP SERVER, GLENRAY KETTLE WARMER					108.94	871.52		
		(ALTERNATE)	116.63	933.04	249.60	1,996.80				
			Tomlinson #1010796		Tominson #1010796					
FE850	8	TOMATO SLICER	254.59	2,036.72			NB	NB		
		(ALTERNATE)			176.33	1,410.64				
					Nemco #N55600-2					
FE680	1	SQUEEZE BOTTLES, clear, 20 oz			16.21	16.21	1.20	16.21		
		(ALTERNATE)	0.84	0.84						
			Calico 70PBD24C							
FE690	1	SERVING TRAY, 13" round			NB	NB	NB	NB		
		(ALTERNATE)	4.56	4.56						
			Carlisle #6413C							
FE691	1	SERVING TRAY, 16" round			NB	NB	NB	NB		
		(ALTERNATE)	6.50	6.50						
			Carlisle #6416							
FE700	16	TIMER	3.99	63.84			NB	NB		
		(ALTERNATE)			7.80	124.80				
					Taylor #5807					



DATE OF OPENING: APRIL 20, 2006 @ 2:30 PM		Calico Industries, Inc.		Sam Tell & Son, Inc.		Sarasota Restaurant Equipment * Supplies				
BID TITLE: Smallwares - Food & Nutrition Services		9045 Juction Dr; P.O. Box 2005		5851 Maspety Ave		4487 Ashton Rd, Unit D				
BID # 07-017-DR		Annapolis Junction, MD 20701		Maspety, NY 11378		Sarasota, FL 34233				
ITEM#	QTY.	DESCRIPTION	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
FE745	96	FIBERGLASS MARKET TRAY	10.54	1,011.84	11.01	1,056.96	10.67	1,024.32		
		(ALTERNATE)								
<b>GROUP X ITEMS AWARDED INDIVIDUALLY</b>										
		<b>GROUP X</b>								
FE840	48	BOUNCER PITCHERS, 48 oz.	4.61	221.28	4.75	228.00	4.47	214.56		
		(ALTERNATE)								
FE845	1	DOME COVER, hinged with clips	45.57	45.57	45.15	45.15	43.80	43.80		
		(ALTERNATE)								
FE846	1	DOME COVER, solid	29.04	29.04	28.77	28.77	27.91	27.91		
		(ALTERNATE)								
FE852	1	FOOD PROCESSOR	<b>NB</b>	<b>NB</b>			894.07	894.07		
		(ALTERNATE)			816.24	816.24	Waring FP40			
					Waring #FP40					
FE853	72	SANITIZING SANI-PAIL, 10 quart, red	4.82	347.04	4.73	340.56	4.20	302.40		
		(ALTERNATE)								
FE854	72	SOAP-SOLUTION, SANI-PAIL, 10 quart, green	4.82	347.04			4.20	302.40		
		(ALTERNATE)			4.73	340.56				
					Sanjamar #KP320GN					
FE856	16	ORIGINAL SAFETY WRAP DISPENSER, 18"	43.05	688.80						
		(ALTERNATE)			43.35	693.60	38.49	615.84		
					Sanjamar S16000		Sanjamar #SW1018			

DATE OF OPENING: APRIL 20, 2006 @ 2:30 PM			Calico Industries, Inc.		Sam Tell & Son, Inc.		Sarasota Restaurant Equipment * Supplies			
BID TITLE: Smallwares - Food & Nutrition Services			9045 Juction Dr; P.O. Box 2005		5851 Maspety Ave		4487 Ashton Rd, Unit D			
BID # 07-017-DR			Annapolis Junction, MD 20701		Maspety, NY 11378		Sarasota, FL 34233			
ITEM#	QTY.	DESCRIPTION	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
FE857	1	SAF-T-ICE TOTE, clear blue, 6 gallon	25.68	25.68						
		(ALTERNATE)			24.53	24.53	21.78	21.78		
					Sanjamar #S16000		Sanjamar #SI-600			
FE858	8	INSUL-ICE MAT			NB	NB	NB	NB		
			81.33	650.64						
			Polyfoam Packers #405							
FE859	48	KELVAR SLEEVES	22.60	1,084.80	NB	NB	NB	NB		
		(ALTERNATE)								
<b>GROUP TOTAL X: "INDIVIDUAL":</b>										
FE865	1	ELECTRIC KNIFE SHARPENER					NB	NB		
		(ALTERNATE)	98.10	98.10	278.59	278.59				
			EDGE CRAFT #325		Edlund #395/115V					
BE870	8	LADDER, 6', fiberglass	NB	NB	NB	NB	NB	NB		
		(ALTERNATE)								
BE875	16	WIRE FRUIT BASKETS, 3 tier, 26" high	NB	NB	NB	NB	NB	NB		
		(ALTERNATE)								
BE900	24	LARGE RECTANGLE TRAYS	6.15	147.60	6.27	150.48	6.09	146.16		
BE901	24	SMALL OVAL PLATTERS	4.39	105.36	4.47	107.28	4.34	104.16		
BE902	24	LARGE OVAL PLATTERS	5.40	129.60	5.50	132.00	5.33	127.92		
FE903	24	LARGE OCTAGON TRAYS	5.40	129.60	5.50	132.00	5.33	127.92		

DATE OF OPENING: APRIL 20, 2006 @ 2:30 PM			Calico Industries, Inc.		Sam Tell & Son, Inc.		Sarasota Restaurant Equipment * Supplies			
BID TITLE: Smallwares - Food & Nutrition Services			9045 Juction Dr; P.O. Box 2005		5851 Maspety Ave		4487 Ashton Rd, Unit D			
BID # 07-017-DR			Annapolis Junction, MD 20701		Maspety, NY 11378		Sarasota, FL 34233			
ITEM#	QTY.	DESCRIPTION	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
FE904	24	SERVING TONGS, 10"	2.92	70.08	2.97	71.28	8.86	212.64		
FE905	8	SERVING TONGS, scalloped	8.97	71.76	9.14	73.12	8.86	70.88		
FE906	16	SPOON, solid serving (ALTERNATE)	NB	NB	NB	NB	2.25	36.00		
FE907	16	SPOON, slotted serving (ALTERNATE)	NB	NB	NB	NB	2.35	37.60		
FE908	16	SPOON, notched serving (ALTERNATE)	NB	NB	NB	NB	2.35	37.60		
FE909	16	SPOON, hollow handled, notched	3.06	48.96	3.07	49.12	2.97	47.52		
FE910	16	SPOON, hollow handled, solid	3.06	48.96	3.07	49.12	2.97	47.52		
FE911	16	SPOON, hollow handled, slotted	3.09	49.44	3.07	49.12	2.97	47.52		
FE912	16	CHAFFER, full size	87.66	1,402.56	86.85	1,389.60	84.24	1,347.84		
FE914	8	CAMSERVER, BEVERAGE CONTAINER, 5 gallon	196.33	1,570.64	196.83	1,574.64	190.91	1,527.28		
FE915	8	CAMSERVER, BEVERAGE CONTAINER, 3 gallon	184.28	1,474.24	189.54	1,516.32	183.84	1,470.72		
FE916	1	STAINLESS STEEL COFFEE URN	148.91	148.91	142.62	142.62	141.92	141.92		
FE930	8	ULTRA LINER, 2' x 10'	13.78	110.24	14.10	112.80	12.31	98.48		

DATE OF OPENING: APRIL 20, 2006 @ 2:30 PM			Calico Industries, Inc.		Sam Tell & Son, Inc.		Sarasota Restaurant Equipment * Supplies			
BID TITLE: Smallwares - Food & Nutrition Services			9045 Juction Dr; P.O. Box 2005		5851 Maspety Ave		4487 Ashton Rd, Unit D			
BID # 07-017-DR			Annapolis Junction, MD 20701		Maspety, NY 11378		Sarasota, FL 34233			
ITEM#	QTY.	DESCRIPTION	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
FE935	96	ECONOMY PUMP KIT, dispenses 1 oz. portions, 1 pump and 5 caps	6.43	617.28	6.47	621.12	5.74	551.04		
FE940	1	ECONOMY PUMP KIT PUMPS, dispenses 1 oz. portions, 2 pumps	4.88	4.88	4.92	4.92	4.37	4.37		
FE945	1	PAN LIFTERS, for steam table pans, 12" x 20"			NB	NB	NB	NB		
		(ALTERNATE)	4.25	4.25						
			Lake Mfg. #SPJ6 (6/Case)							

**Notations and Exceptions Continued:**

Group IX:

FE605: Award to Calico Industries, Inc., lowest and best bidder meeting specification. Recommend to disqualify Sarasota Restaurant Equipment and Supplies as they failed to provide cut sheets as specified for evaluation purposes.

FE610: Award to Sarasota Restaurant Equipment and Supplies, lowest and best bidder meeting specifications. Recommend to disqualify Sam Tell and Sons, Inc. as they failed to provide cut sheets as specified for evaluation purposes.

FE615: Award to Calico Industries, Inc., lowest and best bidder meeting specifications. Recommend to disqualify Sam Tell and Sons, Inc. as they failed to provide cut sheets as specified for evaluation purposes.

FE645: Award to Calico Industries, Inc., lowest and best bidder meeting specifications. Recommend to disqualify Sam Tell and Sons, Inc. as they failed to provide cut sheets as specified for evaluation purposes.

FE455: Award to Calico Industries, Inc., lowest and best bidder meeting specifications. Recommend to disqualify Sam Tell and Sons, Inc. and Sarasota Restaurant Equipment and Supplies, for not supplying specifications of alternate bid items as required in the bid.

FE456: Award to Calico Industries, Inc., lowest and best bidder meeting specifications. Recommend to disqualify Sam Tell and Sons, Inc. and Sarasota Restaurant Equipment and Supplies, as they failed to provide cut sheets as specified for evaluation purposes.

FE650: Award to Sarasota Restaurant Equipment and Supplies, lowest and best bidder meeting specifications. Recommend to disqualify Sam Tell and Sons, Inc. as they failed to provide cut sheets as specified for evaluation purposes.

FE850: Award to Calico Industries, Inc., lowest and best bidder meeting specifications. Recommend to disqualify Sam Tell and Sons, Inc. as they failed to provide cut sheets as specified for evaluation purposes.

FE705: Award to Calico Industries, Inc., lowest and best bidder meeting specifications. Recommend to disqualify Sam Tell and Son, Inc. as they failed to provide cut sheets as specified for evaluation purposes.

FE857: Award to Calico Industries, Inc., lowest and best bidder meeting specifications. Recommend to disqualify Sam Tell and Son, Inc. as they failed to provide cut sheets as specified for evaluation purposes.

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

**Bids Evaluated By:**

Barry Burgess, Food and Nutritional Services

**Bids Prepared By:**

Debra Reaves, Buyer Assistant, Purchasing Department

**Reviewed and Authorized By:**

Kendra Goodman, CPPB, Purchasing Agent

Date/Time: May 31, 2006 10:35:00